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AH,  AH, ( ).
( A.AH, =AH, B.AH, >AH,
. ) C.AH, <AH, D.
( )
. AH, AH, < AH,.
1
AH ( )
DC(s) +0,(g) =CO,(g) ; AH, C
C(s) +1/20,(g) =CO(¢g) ; AH, .
@8(s) +0,(g) =S0,(g); AH, 3 1250, (g) +
S(g) +0,(g) =50,(g);AH, 0,( g) ==280,( g) ; AH = -197 kJ/mol
@H,(s) +1/20,(g) =H,0(g) ; AH; NI
2H,(g) +0,(g) =2H,0(1) ; AH, (0)
@CaCO,(s) =Ca0(s) +CO,(¢g) ; AH, SO,(mol)  O,(mol)  N,( mol) Q(kJ)
CaO('s) +H,0(1) Ca( OH) ,('s) ; AH, ) 1 . 0
AD B® COQB® D .OAB
AH <0 AH > 0. ! 0-3 0 @
@ co o, 1 0.5 1 05
AH, < AH, ( ) -
@ A. 1 mol SO,
CE(s) >E(1) >E(g) S(s) S( g) 98.5 kJ
AH, > AH, B.20, =20, <Q, <197 kJ
©) C.Q,=20,=20, =197
AH AH, > AH, D.
@ AH, > AH,. 197 kJ
(1) 197 kJ
(2) ; 2 mol 197 kJ ) A.B
(3) ; ) 1
(4) ; 20, =20,.
1/20,
. C
2 1 mol (s) 1 mol ; 1/20,.
(s) 18.39 kJ : 20, =20, <0,
4P( \s) +50,(g) ==2P,05(s) AH, <197 KJ.

4P(  \s) +50,( g) ===2P,0( s) AH, C
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N - 185 kJ/mol
4 . CH,CH,CH,CH, (g) + 20, (g)
2 12H,(g) +S,(g) —2H,S(g); AH = -229 kJ +
—, — ° -1
—4C0,(g) +SH,0(1)  AH = -2878 kJ * mol mol ! 2H,(g) +S,(s) —2H,8(g); AH =
( CH;) ,CHCH,( g) +§Oz( g) =—=4C0,(¢g) + -224.5 kJ * mol ' S, (s) =8, (g): AH =
4.5 kJ/mol 1 mol S 4.5
SH,0(1) AH= —2869 kJ * mol ™' 5k e () K
( ) : 4.5;
A.
B. )
6
C.
D.
Mg( OH) 2
1 mol
2878 kJ 2869 kJ '
Mg( OH) ,('s) ==MgO('s) +H,0(g);
AH, = +81.5kJ * mol '
1 3
) Al( OH) 3( 5) 7A1203( '-’) +7Hz 0( g) )
AH, = +87.7kJ * mol ™'
A.
X @ Mg( OH) ,  Al( OH) ,
5 1 mol
H(g) +1(g) ~H-1(g) ® A
AH = + 297 kJ/mol H -1 B C
o ) ; B. ;
297 kJ * mol 1 mol H-1 Mg( OH),  Al( OH) ..
297 k]
(kJ * mol ') : — ) T
e - @DMg( OH) ,  Al( OH) ,
H—H| 436 ||[H—F| 565 || C—F | 427 || C—0O | 347 MgO. AL O,
H—0| 464 |H—C1| 432 ||[c—a1| 330 ||c1—c1| 243 . @Mg( OH), Mg(OH), -
H—S | 339 c—I 218 S—S§ 255 81.5 kJ'm0171/58g°mol’1 = 1. 41 kJ - gil;
Al( OH
e +CL{g ==21Cl(y) | 87); kJ * mol~' /78 =112k g
AH= —185 kJ * mol "' -7 K+ mo grmol =112 kJ* g
( ) Mg( OH),  Al( OH) , .®cC
2H, (g) + S, (s) =—= A
LBl Meg( OH), AI(OH), . .
2H,S(g) AH = —224.5kJ * mol :
1 mol S,( s) ( - oo
") -

H,(g) +CL(g) —

2HCI( g); AH = - 185 kJ * mol ™' AH =
436 kJ/mol + 243 kJ/mol — 2 x 432 kJ/mol =

( 12015 -08 - 13)



